Find the general solution of the homogeneous linear differential equation 2y —3y" +18y"+10y =0. SCORE: /6 PTS
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Y, =e " isasolution of x)""+(2x+3)y +(x+3)y=0.
Find a second linearly independent solution.

ijzi V%ijx
%T;:|V'€;X F\/€:¥1
\j:” N & - Thgle \/6‘:x|

SCORE: /8 PTS

(D FOIT EACH
UNLESS OTHERWISE WoTED

ng # (ZXT%>5; t (xr%)az

P AETN — Dy - x"fjx\/\@
H(2x+2)e V! — (2x+3)e™ \/1@
|  rDer v (D)
= X'+ 37 v =0 Vil 2 =B fis i)
NATLI L g e x3
v=v' (BDxu'=2u=0 e 2

ORI S -
X_dd'i +3u=0 LRt

e -2 =X
@\ Y%AOT—V"S‘ Ax | -ﬂl

b WL <20l




Consider the non-homogeneous linear differential equation 2x”y" +7xy’ =3y = 4,

[a] If y == is a particular solution of the equation, find the value of A.

SCORE: /11 PTS

\lx(4%®+7yﬁifﬁ~3(2x)ﬁ'8%“44xﬂﬂéx4
RGO

. . . : . 2.9 4 2
[b] Using linearity, find a particular solution of 2x”y" + 7xy' =3y = <. __,, s i é [ )
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[c] Using superposition, find the general solution of 2x° " +7xy’' =3y = 1.
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[d] Solve the initial value problem 2x”y" + 7xy’ =3y = i, yh=% YyO)=-3.
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Find the general solutions of the following homogeneous linear differential equations. SCORE: /5 PTS
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